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How to Lead the Band b
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ABOVE ARE THE TITLES OF THREE “BOOKS NEVER WRITTEN.” TO DECODE

THE NAMES OF THEIR AUTHORS:
Measure each angle below and find your answer in the code. Each time the answer

appears in the code, write the vertex letter of that angle above it.
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1. Complementary Angles 2. Supplementary Angles

3. Adjacent Angles 4. Vertical Angles

Use the figure to the right to answer the following questions.
m £ x means the measure of angle x

6. If me5 =95°, then mes6 =

7. If ms3 =115°, then m£6 =

9. If ms6=2xand me4="8, then x =

0= TfmsS = 4x + 12 and mes4 =x +8, thenx = . What is the measure of

Angle 57 What is the measure of angle 4?7

Use the figure below to answer the following questions yes or no?

9. Are 21 and 22 complementary angles?
10. Are £2 and 43 adjacent angles?
11. Are 22 and <4 vertical angles?

12. Are 45 and £3 vertical angles?

13. Are 23 and 24 supplementary angles?

For each given angle find its complement and supplement. If none exists, write “none”.

15. mZA =54 comp: supp:

16 md=95 comp: supp:

17. mzZA4A=90° comp: supp:




If me 1 =23x+ 12 and me2 = Tx = 32, find x, me1 and m.

Equation used to solve:

r ms2

20. 41 and £2 are complementary. If ms1=6x+2 and ms2 = 4x+8, find x, me1 and m£2.

Equation used to solve:

mzl

me?2




because

because
because
m<4-= because %
Is there more than one way to solve this? Explain: ‘

2. Use what you know to find the angle measures on the following problem.

L\ m £ SAX is 100° and the m £ MAX is 700

Find the measure of £ SAM

A D>
X

3. Find the missing measures of all angles below and label them on the drawing.

m < AMX =30° and m £ PAG = 100°

-~ nd GAX

A m( MA&
mn< AX

mé MAP

; r m& AMP
m< APV
< AMNK - given
m< GAP - gwen




Find the missing measure below.

6.

1450 s




t] two angles with the given measures are complen
entary, or neither. '

80°, 10° 2) 112°, 68° 3) 43°,137°

4) 44°, 36° 5) 138°, 42° 6) 63527
7) 114°, 96° ¥Se)ls, 12° 9° 5°, 165

Find the measures of a complement of an angle of the given measure.

10) 53° 11) 77° 12) 15°
13) 84° 14) 26° 15) 62°
16) 33° 17) 19°

Use the figure at the right. Give the measure of each angle.

Q

18) LTOP 19) £S0Q 20) £TOQ




measure of a complement ol LY.

21) Find the
58°
+22) Find the measure of a supplement of £Y. I
Find the measure of a supplement of an angle of the given measure.
b o o 24) 94° 25) 114°
OO 27) 81° 28) 135°

29) 19° 30° 48°

>
o
Ne

31) Find the measure of ZABD in the figure at the above.

32) IfmZ1=38°and m/2 = 52°, what can you conclude about £1 and £27
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COMMUNICATION «Reading

«1. Explain the meaning of supplement in the following sentence.
Elena works part time to earn money to supplement her college
scholarship.

«2. How is the meaning of the word complementary different from the
meaning of complimentary?

-

Find each difference.
3. 90 — 74"

4. 90 — 15 5. 9035
6. 180 — 166

o 180~ 82 8. 180 — 59

Tell whether two angles with the given measures are complementary,
supplementary, or neither.

9. 40°, 50° 10, 125°, 55° 11. 12°, 88° 12. 90°, 90°
Find the measure of a complement of an angle of the given measure.

g o 14. 79° 15. 60° 16. 33°
Find the measure of a supplement of an angle of the given measure.

17. 41° 18. 145° 19. 88°

20. 27

Use the figure at the right. Give
the measure of each angle.

21. /5 D56
28 /7 Wb /8




Il

Find the measure of a complement of an angle of the given measure.

.30 2o 3. 29" 4. 87°
Find the measure of a supplement of an angle of the given measure.

5107 6. 65° 7 102> 8. 90°
Use the figure at the right. C

Give the measure of each il =t
angle. T

D¢ 9 10. £10 S

i 211 198 £ 12

CONNECTING GEOMETRY AND ALGEBRA

Sometimes the measures of angles in a fig- .
ure are given only as variable expressions. f g

If you are given enough information, i 6x°/4x°
though, you can determine what the exact P Q
measures must be by using an equation. 6x + 4x =180

Exercises 19-22 refer to the figure at the right.
19.
20.
21.
22

In each figure, find m£ZABC.
23.

Why was the number 180 used as the right side of the equation?
Why are 6x and 4x added on the left side of the equation?
What value of x is the solution of the equation?

What are the measures of ZPQS and ZRQS?

C a
(a +12)°/ B ~4n°( 5

F - b -
A E ‘_'L Z
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Name

Angles
Write the measure of each angle.

Write acute, right, obtuse, or
straight for each angle.

1. m<s VOP = 5

5 ms VOQ= g
3, ms£VOR= :

4. ms VOS = )

5. m2 VOT = .

e. ms VOU = 3
7. m2£ UOT =

g ms UOS= '

o, mZ UOR= :

10. m £ ROS = :

Write the measure of angles that are complementary

to angles having the measures below.

11, 30° 12. 70°

6. 48° 17. 82°

Write the measure of angles which are supplementary

to angles having the measure below.

21. 60° 22. 150°

26. 109° 27. 172°

52 . PST

13. 25°

18. 55°

23, 90°

28, 145°

. 15°

19 I

24. 45°

29, 12°

15,

20. 17
25. 75°
30. 5°
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Finding the Missing Angle Notes Name

Vocabulary Picture Equation

Two angles whose
Complementary | sum is 90°

Angles 60
30
Two angles
whose sum
Supplementary | is 180°
Angles 115°/65°

4
v

Two angles that are
opposite each other
when two lines
Vertical Angles | cross. They share
the same vertex.
Their measures are
congruent.

Write and solve an equation to find the missing measure. (Not drawn to scale)

[1) 2) 3)

135°
° ° 5x+10)°
55° - 2 7X 2X ( )

A 4

7=~ Pause the video and try these on your own!
' Then press play and check your answers with a color pen

Write and solve an equation to find the missing measure. (Not drawn to scale)
1) 2)

3)
x—3)
52° i
Fo 26 + X <(3x + S)X (5x — 9)°

v




Angle Relationships
Find the value of x in each figure.

1. 2. 3.
115° X 41°

45° X

A

Each of the following pairs of angles Is either complementary or
supplementary. Find the measure of each angle.

78 8. .q - e
: et
__L “
10. A 11. 19,
X +20 X+ 20
X +10 : 5x + 10
| e

13. , 14. 15,
6x \ 4x 77
3x + 20 s il
2x - 10 >
: : 3x - 15

112
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